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CODING DECODING

'3901‘3”& is  the  procest o as&am'fna a code. 1o
Somcﬁ;ﬂﬁ Lox Classr'?tfc:zﬁ'rm.zo,*t chh'ﬁmhon.
DccuoUGﬂ(? s dhe  Mevuise fﬁotfﬁﬁ o {f)cbfr'&, Hexe
Coded mushage Is cecpheicd.

Theie.  are dhsree  methods  which axe mwg used
' [im § and dec ndf'?’?(yi

Im (00

a) Hcco:-fdfﬂ(? fo place Value

b) OPPOSJ‘ale Lot stelation | Fop sudde
c) gyl we/ F-13 sude. .

a) HCCD»‘fdfﬂ(; 10 ﬂam value [
D E F f» H T J K L M
1 2 3 H 5 6 7 8 J lo I 12 |3

v o P O R S T U vV W X ¥ Z
16 |7 18 19 26 o) 22 23 24y 25 26

ly 13
(u Tp E=s , RAM=18DT then SHYAM =P
§,,9f 5 /g place Velue. o E

pAM = 1312 Bo SHYAM — 19 & 25 1 13
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i{u I oON=1Is1y , OLD =1IS12y then SIND =7
-~ M
E,QJ, O N D |5 1

oLD —1s 12 4

SING — 19 914t

b) OPP0~5’+6 deHeor  puletion | formula - 26 gele , —

g LB ERE

Heste Mg Method Qum ¢ !’Jpo&.f'f'a dotter be 27
_Ll‘k ¢ Ao 1 D-Y To10
z - 2'_6__._ w-= ‘\pj 3 ) (? -3 L}_
it FE; T

Tf Wwe ate Given (7 qnd asked opposite [ ettes
+hen Pla(c Value sf G s 3

opposite |etbor Q3 -+ =30 — T (bn place Value 29
thig € pmes

@;ut Tf Rust = 96€3 , p=h then  Truwst =
ﬁﬁﬁ Ru ST P > Hewe place Valiss ase given

:j \éi’ d of  opposite Lbter S0

(3 (AW  (K) TRy = O 1F H ¢ = #9687
e
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i“ I¢ k=1t PEN= N22)3 them (AT =7

EQ—@ K= pP=1¢ w = 1l22)3
S0
@(ﬂ = 242¢3F

C) Cﬂdﬂ: USE/ %Ofmq}q « I !

Hete d:ﬁcm"nca B ppposite mumber and  the
Qumber  «houwld be I3.

HIBIHBRYBEAA5 68

like A=1 F=¢
Hhem
+hem ., .
; T (yYcle oppo&n%e = {418
Cﬂchc oppo&: te - Il: !._3,\, d g

Gu Tr ceie . DO = 17220 then cAT=?

5 p=I6 Dot 4B T =1(7220
o R 2%

CAT — PNGO = 16I1¥F

B
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Qu Tr L[=35  HOME = 2123¢18  them pLUS= P

L Y= g3 HOME > 0F78 - 3134518

PLUS— CYHEF — 395 $¢

— Thote  aie othes (s teda , En the basis & thet
CodJ'fna g déne -

o PLUS (+) !

PELISNE T R
41 +2 43 Y

+y  +3 49 A
+1 42 A1 L o-.-CEC

Que Tf conING = DPE JOH them DECODING =7
T v

" PE%TOH

PECODING — EFOFPE T OH

du Tf MUMBAI = SZQEcT then JALPUR =7
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SYLLOGISM

A Sﬂﬂogt‘sm s a Kind of &ogi‘caﬂ anguemenf that

HHaﬂeS deductive 'zreasont‘nﬂ to awzive at g Conclusion based
On {wo 0¥ more pyopositions tAat ane assested 0% assumed to
be tsue.

These ane Undenstood 0¥ Solved With elp of Venn iagarn .
Hese ane two few Points WAIh ane heeded to Keeh in rnind
WHile Souing  questions So We Cah Solve e question Lith speed

® Some A wie B

A B " Hene, We Can intenpyet that Ondy,
Some A ane B and Some B ane A

We Can't Satl ahﬁﬂ’\l‘hﬂ about al) AgyeB.

* AW A3 B
o AR e B fene is tow But ali 8
?ne A 1s not tywe, Onﬂxd (hside to Outside
IS Possible, We Can Saﬁ Somu B ane
deFt‘ne’rﬂU A.
® NoAis 8

“"Ifho A (s B +HRen tRone Wi be
ho B |hich is A.
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* Some A ane not B

" IP Some A ane hot B then
We Can Same A ane not 8 » We
Can't Say Some B ane hot A, Here
tfa Case of PossibiQity-
® With the Relp of Positive Sentences ,\We Can’t assumy Conclusion.

® I\Hfen the Conclusion (s giveh in e Fowm.

(3) Some A ane 8
® NoA isB

y Y
tRen in SuchR Case» we cRoose *teither a ov b

Que- ™ +f questions  giveh below » Huse are two Statements
Poﬁﬁowina b3 two (bonclusion T and I0» Assumning 1Ra two
Stgternents ane tou , decide Whic One of e Corclusion

jpafcamjd Fallows, cll‘sveaandl‘ng Cnmmor&d Known Facts.

Que-1> Statements .
@ AL Poets ane l‘hi'QﬂQI& ent
b AL dancens ane rnmoiaerrt
Conclusion’:-
1) A dancens ane Poets
@ Same intefligent Penson wne hot dances:
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'Irrte%‘a ent

(D- Hene s ho welation between Poet and dances ,So
it doesn't folfow -

(I - Some 1‘n’reQQi3enT Pensons ane dancens but we Can’t
Satl heaa’n‘ve Sentences- So it also doesn’t follow:

Que-23 Statements—

@ Al engm‘sﬂ movies ane \iodent:
(b) Some Peo‘ﬁ:ﬂe Jike lf\lc"ﬂt'ﬂihﬂ Enaﬁfsﬁrnoufes.

ConcQuston'—
© Al Pechle wﬂkﬂ‘ﬂg Engﬂfsﬁ movies Jike \ialsnee-
(M AL Poshl Who like Viokince Watch enamsﬂ ovtes-

Sl
Enaly

G:=—
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" WHateven Rn.oﬁaﬂe Comes {n attach 4o EnS.Qisﬂ movies
also attacfed to Violent in Venn diagram So thrs

fal0ows.

M Some %oﬂe Jike Viofent Watch EH&QiSR movies but
Fox ald , it doesn't Fallow:

Que -3 Statement

@) iDujs ‘ave Foun Segs
(b) Tahles Rave Foun Jegs

Conclusion
) Tables ane dogs
() Dogs ane Tab

Sol'—

0 Tably and dogs e not ~elated to each othey, So
it doesn't Follow 0¥ it is not tyue . and Fesume s

(i) abso tow, So Second (bndusion also doesh’t fu0fow
we Can Say heitflex () hor in Folfow
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CLOCK & CALENDER

Tt s a Mechamicad o3 electsdcal device ffor
{hcagu;u’w& Fime. /%d{'cmﬁﬁé’ hou}oﬁ’, Munudes amd
Sometmes  gecomcls ba hands on o  swund ol
OX b# dx;apfaﬁfd ;Qﬁu,w' U  Miwte hand 1
alwuw JO'ndtH fham  heux hand -

1 How+t = 6o Mimutes
1 Mynwty = 6o Qecomels

Thue  owe  quushon asfed en  the bagis & fhe
pc‘rir'Ho’n of the hands ¢ dock .
aO\/e}daf‘,Dfm& e Mmute  amd  howt hamds
Jih - 1 hme
e12h = 11 by
o 1 otaﬁ -3 27 Hmus

Thge will be ove}dafp:'"ng 7’01’ o’nld N %mm 11-1
sz tor how ma Fmes does omwmde amd  hewx
hand ovedap each othor $yom 9AM to 2Pm .

gm’“ Q8 —idf~—12 ~} ~ L
L £ - A i /
! |

| )
Utmeyg.
181
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du Fom qem 4o 5P ot what Hime will hand
ard mumute hand ovedap ¢

‘&'ﬂ %ﬂr Solw;n& s we WU’"PH the ﬁﬁv(ﬁﬁﬂg a}i
fime ba 6o .

I

60y - QU0 AL
qu T y

S QI%PM

Qﬂu} Jrom &Pm 1o 3pm of what Hme will be
ovedappimg
- Lox2=lo =lofy
( ('

. Lo
= 2107 P -
9 @Mcu'ghf [ime. [ opposite cusiection [ 1 §0 [ —
o = 4 Hme
12 hs= 11 fime.
1 doy =22 +1mes

 foiom 5 o F thue will be  Straght lme enly
7Lo“r nae .

. To Fnd ot what time will fhey maxe
Stscaight [ime

[5_]5: X (Hme IJ]

— If tme is Gox before ¢ Then &ign wouwld be
po&'h'v'&-

— JF Hme 1S ofter ¢ them wouwd be 'mjah've 31'377.
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Ql.}.ﬂ_ :(irom 7 1o |0 when wil U make [Soamgle .

Bol” 6o yrg.g) = 180 _ j4f
/1l /1 ]

49210t

@M -fnnr) Yyt 5 when will It make léb'amgiﬂ

60 (yr) = 600 - 5y €
_”[‘H) I |l

RRBE

—) f\)f(?hf angle. / qo'
{hy = & tme.
12 hw = 22 tmes
1 ddg ~ Yy frmex

” A _ q - = iy
T - }-} 3 Hmeg T j“‘f 3
3 -y sught amyle. J 10 OU'(?M‘ angle.

qlg;i "{YD}’Y] l{fofjf 'PO(U 'I’H(\Fn,j Hmeg and (.d_ whaf {":?7?@
will make l}q'ﬁhj‘ angle?

[ |

|1

60 X[y43) £oy (y-3)
I |

20 GO_M

I i
Y 39-’—7 4155
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iuﬂ c-31, At what  Himes wil It make syght
amgle ?
B Lo x(et3) 5’_; (6-3)

I I
alo
; e
. '
= ggee o~

ﬂnj/& Made ba um  hand Im 5 Min = 30’
@ﬂgl& made bj mum  hand m 1 Pum=35 ¢

-]

-
—
I

)@lee. acle. ba howe have Im 6o Mim = 30°

Fmale  mads by how: hand v 1 fum= 30 /g
le. et % ]

<7 5}713/& behoem hbws amd  Mur, hand .y

g X1~ %30 ] o - howH
2 Y- umucts

Que Tme m q wakth 1S 430 then what ¢ the
amygle. betwern hath  the hamds?

m - 364! _ yx3o
%}3’« 8?:% ~x¥ 30 5

2 (98- l26 = 38
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boist Image.

Il O bef‘ore |l F)_Ffe}-f l)
lN:¢o / 93060

Qubstyact The 34'\/9‘71 Hme b,j these datqg Wewd
be mwuws Image Hme ox  we Cam Sub shadt
b@ ang  of thase byt Hemumbeo( tHme 1
mevesy quh‘ve.

_iﬁtﬂ J£ Hme Is  8'uys  what ls Hhe Mirnror jmqu
time ¢
Bol” ! 60
8 . 4S
315 — Movwsy Jmage fime.

W aten ma&g___

BETLDTE 30 NMumuts Aftest 30 Munute
19 1 30 [+:30

Que T fime is 020 then  $ind  the wate
Jmeg e time?
m [8:30
%’OJ 0! 20
Q1o “— wates Jmage frme
Que J¢ fime s §:up them #imd the water I'mage.
Hme?

[7. 90
gi o% : Yo
9:So —wafex ('mqge Hme
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[yackice Yowrse

W N N \—‘\,/xf/\ulﬁ

@Wi- 3-9  of what fmMe ounute and howr hand
overdap ?

@UM"_ (-+ of what $me aUNUlL and heux hand

s Im [§o° 7

@ues Jn )2 hows how mernﬂ Hows does munuls amd
heust hamd make 90 amgle 7

Quy Buwen 3-8 Rt what i do howt and
munute  hemd make qo am_g/c’?‘

Cus that 5 fhe angle bitween houn and murute
hand at 0324 7

Quec JF How ¢ 4i0n  them what 15 Mivtar :fqu@,
fime ?

fp L0 3tus L

fdvz ;“’?‘5 g S.}%

fry 3 > 22 Fmes

Py 4 = fk:sw%, 7022

Ay S o Y2

Bk € - F.ST
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DECISION MAKING

In sudv hd;;e of q/aasti@m,u,we qivesm few sbafe/mm&"

which. cam be. umxmirsﬁobutw@ﬁava%omwv
toue amd. en tu basis of tiab few a.ee;wrnﬁh"eﬂ-sflmﬁzm
whichy be toue cf:tfaLSe fluwre @ cestann SW
€ xamble.: :

statement - mTLb( Sclemce Coﬂeﬁwiﬂci e ﬁ”'gﬂ‘!ff
Cowative.,
¢ Csaakive wa OSTURY. .Emiidlfaﬂht-
%o b?f Huse huosfa{mlvjnis, we. cam, Koy Hat

ecience. ollegiates as memam Ths Seud]

becouse Science. collegiabes ake eeakive ard cxatives

ot said di'@eCHH—' -

Ques- A stgte/mwri I given b‘olh:u.ed béf two conclusions,

2 and 0. you have to conselen the, statement to be

toue, evon Jf b seems bbewdmfmw

pronon. facls o oxa o ceckle ki of the gy,

options ca clefimitely be. dncum foom the g, gl
| Drelicate gt TERE

l
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*g&ff’ﬂ-_ ST’:Q’ZEWMLL:
Use of cosmelies fs hazendlovs.
Come lusions:
L) Cosoretics have sicle effects -
L) Cmomelics cvw amexpensie -

Q) Gml# T follows

b) enly T follows

C) poth, T £ follous

) peibiun T gee O follous .

sicle. effects. there is oo mwmﬁmﬁf cost <o ‘9”"‘0‘%

Conclusion T follows -

Ques -2 shatement - .
Honesly arcl Aand ook eadl fo economic dmpove-
_oment of an Snclidual-

comclusions : |
) fhuxe T @ divack salobion belween fonesty. and

) Hastel work and honesty alweiss pay cleviclemds .

a) T b omplicit

b I s mpich

¢) T amd @ we emplicit.

d) 2 amd 2 v mot Smpliit:
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